Question Papers
ExamCode: RA_STAT_162015

If A and B are any two events, subsets of
sample space S, and are not disjoint then
P(AUB)=?

A. |PA) + P(B)+PANB)

P(A) + P(B) - P(ANB)

C. | PA) +PB)

D. | P(A).P(B)

2. | Abagcontains 4 Red and 3 Blue balls. Two
drawings of 2 balls are made. Find the
chance that the first drawinggives 2 red
balls and second drawing gives 2 blue
balls. if the balls are not returned.
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A random variable 'X' has the following
rrobability function.
£ Q12 [3 |4 |5 |6 T
»X) |0 [k [2k[2k |3k Kk |2k | TK+k
| Then the value of k" is equal to-

"

la |2
1
10
C. |1
D.| 1
10

3. | Let'x be a random variable. Then for
ke %, x20

| f(x) = {0 otherwise to be density function,

st be equal to-

!

1|

a







1. ITF is the distribution function of the random variable X and if a< b, then Pa<X<bh) =7

® 1) P(X = a) + [ F(b) - F(a)] 7)) - F(a)

3) F(b) - F(a) - P(X = b) 4) F(b) - F(a)- P(X =b) + P(X = a)

12. . ¥) is the joint prohability density

1on. then the marginal density
donof X. f(x) is:

i’ fix.vidv
J_, frmrdy

[rmsnr

I:f(x! T)dy

j'if(x,r)dx

13. Trex X, .... Xa is a sequence of random

ables and if mean u» and standard
ation o of X;, exists for alln and if ox
asn — o, then-

X,-u,—0asn—->=

X, -1, ,—rconstantas n —>C

g 7
X, u,—lasn—x

f - = w
L. l X, -, —X asn—x

If {Xa} is a sequence ofindependent and
identically distributed with E(X:) = p and

VX)) = ¢® and letlim-ci=0, then:
=X 1n







19.

| Jngﬂ —> j‘ng iff F —>>Fif g is:

~ontinuous and bounded

B. | Continuous and unbounded

C. | Continuous and almost surely

D. | Continuous everywhere

20. 'WLLN holdsiff the following condition is

satisfied:

=X =0

B |lim Y P[X, =X{] >0
1

c.|m Y PN, = X:] -1

D lm) P, #X{]o»
1

2l TIf Xy's are inde pendent and identically

. . . S
distributed random variables then == > ¢
n

almostsurely iff E| x| <= then E(X) is a-

A. | Infinite number

“inite number

C. | Less than infinite

D. | Greater than infinite

22 is sometimes stated as the convergence of-
iomial to normal distribution 2) Normal distribution
2) caponential distribution 4) Poisson distribution
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24

26.
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28.

If {Xs} be a sequencyofii.d random
variables with E(Xx) = 0 and o(Xx) = o<=

then the distribution function of

ronverges to-

Jo(X,)
18§

Standard normal distribution

—. . Binomial distribution

C. | Poisson distribution

D. | Exponential distiibution

Binomial distribution applies to-
1V Rare events
peated two alternatives

2) Repeated three alternatives
4) Repeated four alternatives

: of binomial distribution when (n+1)p is an integer is:

and m-1 (two values)
sy m - | (one value)

2y m {one value)
4}y m and m+1 {two values)

The property of consistency ensures that the difference between the estimator and the parameter
would become smaller and smalley in probability sense as:

1} n 1s equal to zero
3y nis large

For a binomial distribution, variance is:
B Greater than mean
ess than mean

™ - s very small
increases indefinitely

2y Equal to mean
4} Not equal to mean

If X and Y are independent Poisson

. 1 P( X )
variatesthen the oy s

Binomialdistribution

B. | Poisson distribution

C. | Negative binomial distribution

D. | Hypergeometric distribution

distribution which has a variance larger than the mean is:

ggative binomial distribution
3) roisson distribution

2) Binomial distribution
4) Hypergeometric distribution
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The probability generating function of
negative binomial distributionis:
P
11-gs}
T
P
Al-g) |
p(
l C. (l=-qs.
| _ P
-qs,’
The momentrecurrence formula for
negative binomial distribution pr+1 is:
’ du, «k
ma,)
@ p
ETE }
’ ‘ [ & P
( tk
C |q dh, +—=u, -1 :
\ P ;

" The 1#b factorial moment in hypergeometric
listriburtion is:
M*n
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The rejectable quality level is :

1) The quality level having a probability of
acceptance

3) The maximum proportion of defectives, which th
consumer finds definitely acceptable

For large values of ¢ in normal distribution, the «
1) Peak
3) Semi peak

2) The average percentage defective in the outgoing

nroducts after inspection

-oportion of defectives, which the consumers finds

«-...litely unacceptable

" 1ds fo-
ften
+) ouarp peak



35. P . . . . .-
Normal distribution is a limiting case of

Poisson distribution when-

A—> L
B. | A—1
C.lro0
D.| Ao—-x

36. If X, and X, are independent cauchy variate then X, +X, is a -

Y Mormal variate 2) Uniform variate
‘auchy variate 4) Gamma variate

3 For a Beta distribution first kind

v -+ +1)
: s— is the value of-
pv{p+v +2)

A |1

B;
C. | B
D .|y

38. [Fora Beta dictribution of second kind 11,
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H=ri/U—1)
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If t: is the most efficient estimator with
variance vy and t; is any otherestimator
with variance va, then the efficiency E of to
is defined as-

Ve

Al T
!
vy

C T2 5100
V1
1.

D +x100
vy

An estimatorts is said to be sumcien sor

estimating a population parameter 6, if

the joint density function of the sample
scan be expressed in the form-

1Ry Xa.. X, 0= L 0, Lo x,, o,

7

B.| Lix;,5,..x,;0; =L ,(t,,0)L./x,,%,,.%,.0)

nI

C. | Lixy.5, 5303 = Ly(0) Ly(xy, 39,5,

D. | Lixy.xy, x;8)=L,(t,) Lo(x;,5,,.%,,0}

s

If t is a sufficient estimator for the parameter 0 and if y(t) is a one to one fuaction of t, then w(t) is

for y(0)-
1) Unbiased M Efficient
3) Consistent sufficient

Let x1,%1,...%n be a random sample from a
population with probability density
function 5,80 =85> : 0 < x < 1,80, then
the sufficient estimater for 0 is:




52. [In Cramer-Raoinequality, the amountof
information on 8 supplied by the sample
{X1. %a,.. Xa) 18!

‘ i ClogL
Lg,=E, ——

A, R

19 =E!-f—alogL}
£ J

‘ C.| 8y= E[‘%logL.J

5 Y
E(-glcog]_j|

53. Let @ be an unknown parameter and f, be an unbiased estimator of , if var(f,) < var(t,) for 1, to be
anv other unbiased estimator, then f, is known as-

nimum variance unbiased estimator 2) Unbiased and efficient estimator
3) Consistent and efficient estimator 4) Unbiased. consistent and minimum variance
estimator

S I Let X and Y be random variables such that

E(Y)=pandVar(Y)=02=0
Y ‘
Let E[i = xj =@(x). Then:

E[Q(X)] = K and var{p(X)] < var(Y )
B. | E[0(X)]= wand varo(X = var ¥
E[@(X}]=H and var[Q{X )] 2 var{Y )
D. | E[g{X}] » pand var[o(X)] < var/Y)

a

55. Ifa etatistical hypothesis specifies the population completely then it is termed as-

nple hypothesis 2) Composite hypothesis
3) Null hypothesis 4) Alternative hypothesis
5¢ 7 probability of Type 1 error is denoted by-
Dl-a

2P 4H1-p
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68

69,

71.

72.

The test statistic in the case of Mann
Whitney statistic in the case of large
sample is:

T

, @n
v-

Z -
mo N -1
12

mn

B|Z- ;—2
s
C. Z- ma N -1
é []
T
2=

percentage of operating time that an equipment is operational is called as:

ime availability
3) vlission availability

In SPRT, « and f§ are fixed constants where as the sample size n is not fixed but regarded as-

" Mormal variable
.andom variable

2} Equipment availability
4} System availability

2) Poisson varjable
4} Type I error

reiative efficiency in non parametric tests is the ratio of-

v Power of two tests
iize of the samples

2} Size of two tesls
4} Size of the tests

I ne confidence interval based Wilcoxon test leads to same results in the case of-

M Median test
fann - Whitney test

A one sided two-sample maximum-
unidirectional-deviation test is based on
the statsuc;

A. | Di, =Minfs, (x)=5,(x)}-1

D =llnin[sm(x) —s _(x)]

c.| DL = Max(s, (x) -5 (x)]

m.n

D. | Do = Max[s, (x) —s,,(x)]

2) Run test
4) Kolmogorov test






78 [LetY:Yo.. Yaben independent

ohservations from a population with Mean
u and Variance ¢° then the BLUE of  is:

Y, + Y,
A 5
B Y+, 4+ + Y
) n-1

¥

=1

79. Choose the correct option: The estimate of § in the linear model.

T axdmizes (Y - XBY (Y - X[B) 2) Minimizes the likelihood
nimizes (Y - XpY (Y - Xp) 4) Is biased
80 ‘r Gauss - Markov theorem BLUE and OLS are-
'**|ot equal 2) Cannot be compared
ame 4) Greater than the other
81. |To test the hypothesis that the slope
equalsconstantie H, B, = By,
H. B, #By. we use the test staustic:
t= B i -t -2
NS,
S
B, - B
B.|'" a7
Suy
e | = ﬁ)l;il ~t, -2
35:!
BB
D |t" .\IS}-‘: t, -1
S

82. The set of equations in the process of least square estimation are called-
1) Intrinsic equation ™" “imultaneous equations
3) Homogeneous equation ormal equations

83. [The least square regression coefficient of
X200 O X141 s
N
9:1 ey new,
A :_r‘.__..—q
s onER T
o=,

LS

I omen-Sy syaciy
a=l

!

o=l

T % u—Il » 12u-l2










7.

98.

99,

[LT1TA

i¢l.

112,

103,

104.

105,
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Lotus 1-2-3 is a program.

1) Word processor /orksheet

3) Database -, pplication
function is used to create shortcut formu' = ¥ otus 1-2-3.

N# ]

3) @@ . #

key is used only in combination with the ten function keys to produce various line and box
drawing characters in word star.

© Ghift 2) Ctrl
Al 4} Page down
statement informs the compiler about the array variable, its size and arrangement of array
elements.
JIMENSION 2)SIZE OF
. AALLOC 4) COMPUTE

The technique of reducing the block size in the factorial experiment by sacrificing one or more eflects
is known as-

1) Balanced incomplete design onfounding
3) Lattice Design 4) strip-plot Design

For the 4 x 4 LSD, the sum of square due to error is 156.37, then Mean sum of square duc to error is :

1439923 2)52.12
16.00 4)27.2
Which one of the following is not the assumption of ANOVA?
1) The effects of blocks. treatments and error are 2) The observations are distributed independentiy
additive
3} The observations have drawn from normal Variance of the observations is not constant

In a 22 Factorial experiment, *‘obo =18, alb0 =17, "obl =25 and albl = 30, then sum of squares for the
infteraction AB is:

1)4
3e “4)

In a randomized hlock design with 4 blocks and 6 treatments having one missing value, the error
dearees of freedom is:

15 2) 14
) 4y 12

In the split plot design with factor A at p levels in main plots, factor B at q levels in sub-plots and r
replications, then the degrees of freedom for main-plot error is:

Nig-NHr-1 p-1)(r-1)
¥p-g-D(r-1) (g-DH@-1)



107. [ A balanced incomplete block design with
the following parameters was used for the
mial, v=b=13,r=k =4, A=1 then the
efficiency factor E is:

13
16
16
B. B
32
€l
13
D. =

108. ¥qp «-- 22 Factorial experiment with 4 blocks, the factorial effect totals of [A] = 40, [B] = 28 and [AB)
= 2%, tnen the mean sum of square for the treatinent B, is:

1) 100 )
3)50 3

ER
* | If 57 is the mean sum of square due to

error related with Randomized Block
Design with 'r blocks and K treatuments
then for the a-level of sygnificance. the
cntical difference betweenany two
treatlnents is

2

At feee-1 s-1x —E
bl 3

t =
) el
B. |5  forc-1 k-1 :| .

-)E

i 13
sl

L forn-1 k-lix o5

-2 K

110, If . r; € g (i=j=s=1,2,....K) are fixed effects denoting in order the general mean, the row, the

L. i forie-1 k-1 x

column, the treatments effeets and Eij is the error component, then the model for LSD, is:

Kij=p+ri+cj+ls+Eij z)Yij:”'ri‘cj+ts+Eij
I11. In connection with reliability, the bathtub curve s
1) 2 distinct zones distinct zones

4 distinct zones + - distinct zones



"* Given p=02,n= 64, the lower control limit

for the np control chart is:

A.|224
3.2

C.|12.8

D.[9.6

113. In any sampling plan, if ¢ is the acceptance number, then the rejection number is:

y1-¢ + 1
e~ 2

b AV

114 | The OC functionof SPRT for testing

Ho: 6 =06¢ against Hi : € =61 in sampling
from population with density function
f(x, 9). is:

4¥¢ _pe® [ %0,
C. Ligy= T A B
PR T Ewe, |
P s
D Le-2 B owelfmf
ART -1 f x,8,;

115. For the control chart for fraction non conforming, if the process is in control with the probability of a
point plotting in control is 0.9973, then the average run length is:

1Tyt 2) 170
170 4270
1o, wiven LR =9.00, N = 20, D3 =0.41 and D4 = 1.59, the LCL and UCL for R chart are-

1)0.185,7.16 185.0.716
3)1.85,7.16 .,..85,0.716






121. Quality control and reliability are-
1) Same

3) Quality control is checking the quality of the
product and reliability is not

uality control is associated with relatively short
yd of time and reliability is associated with quality
over long period of time

4) Reliability is checking the quality of the product
but quality control is not

122. 'The maintenance action rate ‘y’ is given

by-

A. | MTTR
1
MITR
1
C.
MIBF
D. | MTBF

123. The provision of stand-by or parallel components or assemblies to take over in the event of failure of

the primary item is known as-
' Nerating
edundancy

124, A certain type of electric component has a uniform
0.1 _

specified period of service of 10,000 hours is (e

0.489%
., ..9483%

125. [Tt is desired to have a reliability of atleast

0.99 for a specified service period of 8000
hours on the assumption of uniform failure
rate. The least value of 8 that will yield
thie reliability is
(Civen that log ** - ~0 01005)"

7.96x10°

796x10°°

7.96x10°
7 96x10°

2} Availability
4) Longevity

failure rate of 0.00001 per hour. Its reliability for a
1.1051):

2)9.483%
4) 94.83%

126. When the lailure rate is plotied against a continuous time scale, the resulting chart is called as-

:athtub curve
By l\t'.‘llablllt}*

2} OC curve
4) Hazard rate



127. An equipment which works well and works whenever called upon te do the job for which it is designed
is said to be-

1 (yood 2) Best
teliable 4y Effective

125. 1me rate at which failure will occur via certain interval of time [t}, t,] is known as-

ilure rate 2) Hazard function
3) Hazard rate 4) Availability

129. An equipment is subjected to a maintenance time constraint of 30 minutes. [f MTTR is 0.262 hours
then the probability that it will meet the specification is (Given that e"%083 = 0,14833):
85167 2¥0.15
75 4} 0.085

130, When the components of an assembly are connected in scries, the reliability of the assembly is given
by-

1) Sum of the reliabilities of individual components 2} Average of the reliabilities of individual

camponents
3) Geometric mean of the reliabilities of individual roduct of the reliabilities of individual
components ponents

131. A tool used for collecting the data consist of number of questions where in the respondent filled
* ' elf/hersell is known as-

Iestionnaire 2} Schedule
-, wata entry sheeat 43 Mailed questionnaire
132. Increase in the sample size usually results in the d e of-
1) Non-sampling error impling error
3) Precision error 43 measurable error

133. The total number of possible samples that can be drawn using SRSWOR in the case of N=6 and n =2
is:

103 2) 10
5 4)35

134. T'The variance of the sample mean in the

case of SRSWOR is given by the formula-

Nn o e
_f,,_sh-
N

A.

NCI: a
¥ g
1-XN
N-n
Nn

B.

512

L ”

n




135. Which of the following statement is true?

1) Population mean increases with the increase in 2) Population mean decreases with the decrease in
sample size ple size
3) Population mean decreases with increase in sampl opulation mean is a constant value
size
136. [Tn stratified random sampling, given the
cost function ¢ = & + Z c,n, . then\'y, , is
=]
minimum if the stratum size n; is
proportional to-
NS
n g—=t
An ] C‘
N i
n‘uT-
C;
C.|nuXNs§
D.| s o 2
137.

The following relation must be satisfied in
the case of lineartrend when compared
with stratified, systematic and randomn
sampling methods-

\?(T!t) = \T(-}-;::n) = \r(.?l\’ )R

B- \7(-‘_'“) > V(?sn) > V(?l\ )R

\T(.?!t) 2 \?(-.‘?:31 ) = \?(.?N )R

D.| V%) <V, < VTln

138. | In simple random sampling without
replacement for large n, an approximation
to the variance of the ratio estimatoris
given by-

s _l-f& ¢ -Rx’
VR=—r™ e
’ LSZ N-1

s 1-f 2 -
\’R = — ('—R.x.'
B.| V{R; m:*z" .

=]

. N b
V(R)=— -Rx)*
C.| V(R) mz)r;(,v. Rx,)

on _ Ll-f& iy -Rx *
D.| ViRy= 553 ST

=

139. Stratified sampling is not preferred when the population is:
" "Vell defined 2) Heterogeneous
lomogeneous 4) Proportional to size



140. | The relative bias of the ratio estimatorin
the case of SRSWOR iz given by-

BR _1-f 2
SRS -PSS,
nxEy

BR _I-f RS:-PSS,)
R N ) ’
BR

I

1-f

RS -P5S..

(RS} -PS,S,)

[ * 'matic sample does not vield geod resulis if-
ation in units is periodic 2} Only requires large sample
J requires small sample 4y Data are not easily accessible

142. A solution obtained by setting any n variables among m+n variables equal to zere and solving for the
remaining m variables is non-zero is called-

' Mptimum solution 2) Lnitial solution
asic solution 4} Feasible solution
14 7  main characteristics of the Lpp is :
| the variables are non-negative 2) All the variables are negative
2y ~ul the variables are constant 4) All the variables are linear

14* * “sible solution that minimises the total transportation cost is called-
stimal solution 2) Unbounded solution
sunded solution 4y Minimum feasible solution

[45. An alternative optimal solution to a minimization transportation problem exists whenever opportunity

cost corresponding to unused route of transporta®-— *-

L) Positive unit greater than one asitive with atleast one equal to zero
3) Negative with atleast one equal to zero 4 vegative unit less than one
4 the formulation of LP model, simplex method is terminated when all values-
Y 2>
] ZJ_O 2)CJ ZJ_O
1. - Z. = <
J)LJ ZJ 0 4}Zj_0
I- ual has an unbounded solution, primal has-
io feasible solution 2} Unbounded sclution
5y reasible solution 4) Optimal solution

148. When the sum of game of one player is equal to the sum of losses to another player in a game, this
ga :is Known as-
1" Bajlanced game 2) Unbalanced game
£ro-sum game 4) Fair game

149. If the unit cost rises, then the optimul order quan
1} Increase rease
3) Either increase or decrease 4) kemains the same



150,

151,

153,

155,

Game which involving more than two players are called-

I Conflicting games 2) Three person games
N-person games 4) Negotiable games
The expecte.. .. .iting time of a customerin
the queue in the case of M/M/1 mmodelis:
o1
pop-2
‘.
B. |-
H
7.
C. Y
—
D | E-=
an

. An additive model of time series with the componcnts T, S, C and R is:

DY=T+8xC+R MNV=T+5+CxR
NY=T+SxCxR =T+S+C+R

In ratio to trend method for seasonal indices, the indices become free from trend components of time
series by-

1} Subtracting the trend line value for each Faking the ratio of each seasonal value to the
corresponding value responding trend value

3) Taking the ratio of each trend value to the 4} Adding the trend value for each corresponding
corresponding seasonal value value

. The component of a time series which is attached to shori-term variations is termed as-

1} Cyclic variation cular trend
3) lrregular variation «+, ocasonal variation
g

The moving average in a time series are free fro— *»~ *~fluence of-
1) Seasonal and cyclic variations zasonal and irregular variations
3) Trend and cyclical variations _ rend and random variations

. Value of b in the trend line Y = a + bX is:

' Always positive 2) Always negative
sither positive or negative 4y Zero
. For the equation Y = 148.8 + 7.2X, the quarterly Tis:
NY=124+18X "=372+0.15X
NY=372+02X -y (=324 +02X

- A polynomial representing a irend equation of the type Y = a+bX+cX? is called a-

rabola 2) Straight line
-1 oend ling 4) Non-linear curve



L5 :le in a time Series is represented by the difference between-

0 suceessive peaks 2) The end points of a ¢onvex portion
3) 1ne mid-points of a trough and the crest 4) Trend values

160. The equation Y = a + bX + ¢X? + dX? represents-
' Hyperbola 2) Cardioid
Jubic parabola 4) Compertz curve

1et A trend is linear if-
rowth or decay time rate is consistent 2) Growth or decay follow geometric law
+y « hange is constant 4) Growth rate is exponential

162. Suppose the price of a commodity is Rs.20 in 2010 and Rs.30 in 2015. Then the price relative is:

1y1.5 0%
316.667 4} 06.7%

163. | The formula for caleulating weighted
aggregate price index is:

=
A ﬁt 100
—Plc

Y o.q-
=P 100
—Pels

=
C. =P, 100
ip.qg

=
~PeqQe

D. | ===+100

Zpa,

It geometric mean of Laspeyre's and Paasche's indices is:
ishers ideal index 2) Unweighted arithmetic mean price relative index

3) Marshall and Edgeworth index 4) Simple aggregate index

165 | Marshall-Edgeworth index numberis:

-«
‘-'pl(ql: —'_ql) * 100
2pe(q: +q;)

B. Zpﬂ(qﬂ.’_q])xloo
Zp{Q+ )

lp
C. | =100
2p,

:(qﬁ‘ “CI'.) % 100

D.
2{pe-p:)

166. The most suitable average for index numbers is:
1) Mean 7 *edian
3) Harmonic mean zometric mean






t71. | The formula for calculating quantity index
numberusing simple aggregative method
is:
A Z9 100
Zq,
=
=4 100
=0z
c. | 8x100
%
D. D100
9e

172. For a split plot experiment conducted with 5 concentrations of an insecticide in main plots and 4
varicties of gram in sub-plots and have 3 replications, main plut errur degrees of freedom is:

3 2)10
4 4) 6
I mntrast constructed while interpreting the results will be categorised as-
osteriori contrast 2) Planned contrast
oy «1 Priori contrast 4} Orthogonal contrast

174, P
In a inearregression model. Var[ﬁl— B:}s:

A. Var(é:) + V'-lf(é‘:)
B. \’ar(él)* \.ﬂf(é‘:)
C. \’at(é1)+ \-’g_f(é:)+200v(ép é:)

Var(f))+ Var([.?tz) -2 COV(épé:)

175. l To test the overall significance of the
" iple linear regression model with R
pendent variables, we use-
SSdueto Reudual
Total sum of squares

F= S5 due o Regresaon
Toul sumor squares

__ RY/®R-D
(I-R°)/(m-R-1)

~ R° n-R
R

1-R




176.

177.

178.

179,

To detect the auto correlation in a multiple regre
1) Chows test
3) Sign test

To find whether a particular variable can be inch

1) R?
3) Comparing the mean values

Choose the correct answer from the following op
-1<R*< )
3)AdjR2> |

In the regression model

Y = XP+e,if V(€)=6°V,Vis a knownn x n
matrix then the generalized leastsquares
estimatorof B is:

10del, we use-
urbin - Watson test

., «~un test

the model, we use-
justed R2

., - mparing the standard deviations of the variables

gression model.
\dj R2
A < R2

A | XIX)TUXY)

B. | X'X)y'VX'Y)

XWVIX)TIXIVTY

D. | XX)*V(X'Y)

180, If X is the total number of sixes appearing in the first n throws of a die, the state space is:

181.

" Markov chain 2) Centinucus
Discrete 4) Bernoulli trials

The probability that starting with state j
the system will ever veach state k is
denoted by-

A | Fg= if:raml

B. Fh = ifln-b
o=l

F=2 &

k=i

PR




I82  Siventhe Markovchain with states 0, 1, 2
ind the transition probability matrix
Lo 2y
3

e |

L iﬂwnyll:P_.’, =7
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183. The set of possible values of a single random variable X of a stochastic process {X , n>1} is known as-

ite space 2) Sample space
3) venn diagram 4) Random space

184, If for all t byt s b < <<, the random variables X( ty) -X(rp), X( IJ)-X(tz),....X( 1)-X(t, ) are
independent, then {X(t), t =T} is called as-

1} Processes with difference rocesses with independent increments
3) Processes with dependent increments ., . rocesses with unequal increments

185 M The m-step transition probability matrix is

denoted by-

A | pi=Pfx, =k/x, =1}

P = B {¥om =K /5, =)

Po = P{fp =k /%, =1}

D. Py =P{x . .=k/x ;=i

186. The interarrival times of a Poisson process are identically and independently distributed random
variables which follow-

he negative exponential law with mean 1/x 2) The binomial distribution
3) The uniform distribution 4y The weibull distribution
187. If ¢ chain docs not contain any other proper closed subset other than the state space, then the chain
is called-
1) Reducible reducible

3) Primitive 4} imprimitive






I7~ 7 ial mobility implies-
Tovements of individuals from one states to 2) Movements of individuals from one village to
her another

3) Movements of people from one states to another  4) Movements of people from one country to another

193, While describing, comparing and explaining the determinals and consequences of population

phenomena have to be taken into consi-*~-*pn.
1) Economic phenomena rcial phenomena
3) Biological phenomena <y cavironinental phenomena
194. The first Indian population conference was held in under the auspices of the university of
‘know.
Y36 2) 1937
211938 4) 1936

195. The Indian Association for the Study of Population (IASP) regularly publishes a journal known as-

1) Indian Economy emography India
3) Social change ., —conomic change

196. The data required for the study of population are obtained from:
1) Population census N Registration of vital events
3) Sample surveys ul of these

197. [The Dependency Ratio is given by-

PD-l-l + Pw xK

Pig

B. PG-—%-!XPGO K

PI?H

C, pl.‘-f& x K
Pe-u *Psa

p | Pes_ ik
Pry—F

198. [ Tnfant mortality rate 1s given by-

Toetal no,of deaths below ageone “

- - 1000
No.of tirthsregastered
B. | Totatno.of deaths below age one
No.of deaths registered
C. Total no.of births registered <100

Total no.of deathsbelowagecne

D. | Totalno.of deaths registered
Total no.of turths




‘~m T - peo-natal mortality is the period:

"herein death occurred before completing four  2) Wherein death occurred between 28 days and 365
¢s of life days

3} Wherein death occurred before completing one 4) Wherein death occurred after one year
year

200. One who has not had a single child is regarded as:
1) Fertile erile
3) Fecundity 4) involuntary Sterile
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